5 Logic Puzzles Quiz by Riddles.com iddles

1. A pregnant lady named her children: Dominique, Regis, Michelle, Fawn, Sophie and Lara. What will she
name her next child? Jessica, Katie, Abby or Tilly?

2. There is a clothing store in Bartlesville. The owner has devised his own method of pricing items. A vest
costs $20, socks cost $25, a tie costs $15 and a blouse costs $30. Using the method, how much would a
pair of underwear cost?

3. George, Helen, and Steve are drinking coffee. Bert, Karen, and Dave are drinking soda. Using logic, is
Elizabeth drinking coffee or soda?

4. A logician with some time to kill in a small town decided to get a haircut. The town had only two barbers,
each with his own shop. The logician glanced into one shop and saw that it was extremely untidy. The
barber needed a shave, his clothes were unkempt, his hair was badly cut. The other shop was extremely
neat. The barber was freshly shaved and spotlessly dressed, his hair neatly trimmed. Why did the logician
return to the first shop for his haircut?

5. They are scenes of madness, grief, gaiety, seeming purpose, confusion and queerness often appearing in
the dark hours of night. They stretch through time, seeming only but a few moments, yet when reality is not
as kind. When appearing they are logical, but when reminiscing they are strange and odd. What is it?



Riddle Answers

1. Tilly. She seems to follow the scale Do, Re, Me, Fa, So, La, and then Ti.

2. $45. The pricing method consists of charging $5 for each letter required to spell the item.

3. Elizabeth is drinking coffee. The letter E appears twice in her name, as it does in the names of the others
that are drinking coffee.

4. Each barber must have cut the other's hair. The logician picked the barber who had given his rival the
better haircut.

5. Dreams.
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Thanks for choosing Riddles.com!



